RE T DERK

1 AODExR

ANAESIYREEE
BBFN604E(19854F)

L2l - [

=

10 8 6 4 2

AR

TN

BT

2 4 6 8

10

F 304 (20184F)

85RRLL

80 ~ 84|

75 ~ 79

70 ~ 74
65 ~ 69|
60 ~ 64|
55 ~ 59

50 ~ 54|

45 ~ 49|

40 ~ 44

35 ~ 39|

25 ~ 29|
20 ~ 24

15 ~ 19|

10 ~ 14

5~9

0~4

NN
AN
NN
N

AN
RN
...
..

30 ~ 34
.
N
AN
RSN
AN
N

%

W

éx

=

=

%%

ANOEECERI0EI10A1BIRAE) B A
it Bt 4
JNEE: 139.878 | 68,669 | 71,209
65mLLEAD 36,474 | 16,330 | 20,144 0
~ 261 238 28.3 —2
(AL %) o0l 260l [320]
THE 2 55,548 [737,760] 120
—HH A 2.52 [2.43]
[ IRE=ER 100 i\
A
A\ OV BN BE (ST R} 304E) e & £k B A 80 §
it B it it \
EER 1,034 496 538 60 \
BT 1,375 714 661 \
HEE ADFSD) 7.39 [7.03] 40 \
ELEAOFH) 9.83 [11.67] \
[ RE=ER 20 8
SEABIAODHT B _ A ’
ERTE | R 225 | FR27E | FR30E &
(2005%) [ (20104F) | (2015%F) | (2018%F) X
0~ 145% 21647 | 20,392 | 19,309 | 18,677 :
15~645% 91530 | 88,084 | 84,198 | 82,521 BO~ME  @IS~64E  meSmALL
658 LA £ 21625 | 29981 | 34590 | 36,474
2 BFEREDKT
A CUENAR(F R3O TE 31 _ LT
H A LR (FE) BB REH JEEHR I BELR
BAER HER - B | HH 13
22T 1,034 83 4 3 24 3 589 219
[] [7.4] [8.0] [3.9] 201l [22.7] [2.9] [4.2] [1.6]
=E& 12,582 1,133 21 9 251 36| 7446 20929
[E] [7.0] [9.0] [1.7] [0.7]]  [19.6] [2.9] [4.2] [1.6]

HAERA\OF) ERERWEEX) . ALRET-FHER (HWEF)
e (HETX) . BEMET (HAT*) | 4590 - Bss (A O Fx1)




SRR ER

$&;~11 a‘umgw AR EROER ALRFETEOHD
30
=Nl 1.47 1.49 .
=28 1.45 1.47 | k2630
FLIRSE TR (A Fx1) Db
EY RS 487 1,08 | ”: "
=y 4.17 1.77 ] 150 145 140 TREBWT 00 200 400 600
D=8
B EGRHEEDOER ALRECEDHER
156 e 45
152 149 g'g ﬁL
== =3 30 7
1.48 \O- 25 7
144 == 20 b ®
124 15 N
140 e ég |00 {nn \Ylnn
1. . . . . L 1 =E 8 0.0 - - ¢
* H26 H27 H28 H29 H30 =ER + H26 H27 H28 H29 H30
# | —a—gam | A *
HEE-ERERBEEDER -o--ZER | FEHRCEOER
(HEF)
12.0 6.0
6.0 NY [ N | —=—= 30
'§ '§ '§ '§ | =
- \ AL
sl \ BNENENEN
H26 H27 H28 H29 H30 s ﬁ
3 iy ”

FEEEETR A D105 % 40 ~ B4R ICHITHEFEERETE
R Bif % AO105 5%
{25 A W) 150.8 80.7 &t Bt it
'“‘ [151.8] [79.0] | RA™ 146.1 186.1 1064
L & & [55-5] [29-3] —F1B8 1705 217.5 123.7

= 65.3 344
me%rﬁ% [gl% [;1831 HAIT SR 0 B &
. 48 1.6
T Il e
| . . E %‘ t"
e [BEL g gl
0 . . . AB105% . . .
e s N A I 1 O
= M F [1.7] [1.4] — rw% o ' '
ET H D 3Gt
BT 5N O (FEEREIXME 60T Vv N1 2 H) I
[ ISR

FFAEETE (EESERDFY) (B) 0ELTH D=ER (& i)

AT MI

Fm B g

160 140

: 6 4 0 60 80 hl
M I,ﬂwm

,_—HH

I—SEMEW




200.0

150.0

100.0

50.0

0.0
20.0

15.0

10.0

5.0

0.0

FMPABETEOERHD

% ﬂ t 'HEZOO'O

#..Aﬁ 150.0
—— T

2/

100.0
‘ - S M—N“
------- -l o

N« . — — . v R N Uy W
— & | = . L T Tty il
L L L L ﬁ% 0‘0 L L L L
H26  H27  H28  H29  H30 o H26  H27 W28 H20  H30
= 10.0
N

— o HEFRIF |

= o JIE

H26 H27 H28 H29 H30

SMR(B#{LFETCEE)
EHEY i
150
i & &
fixd 1 %5 9 2B
g
KIS A
FHA

HE: HADataBoxI AO-HEDEHE | CHRFI0A1HIRE)
Ei—t%’"@]‘é\rkﬂﬁﬁﬁgﬁﬁjiﬁ?—@ )
MREEATEREXRSIRICEDCAOD, AOBERUVHBFHICIREIA1B)

I SMRIZEALE-AORURCHIILZEZECSEROAE
A = #HZDataBoxI AQ - HEDEE IOAD
BBEATERERBRICEIAD, AOBRERUETHIOHTE




